Thule Ladder Deluxe - single & double

> Instructions

Date:

307496 (single) & 307497 (double) Bring you
thule.com

nt nr: LD 908-01

17/01/2014



Thule Ladder Deluxe .
307496 (single) - 307497 (double) T""E

LD 908-01

Lees deze montagevoorschriften aandachtig. Bij verkeerde montage vervalt elke aanspraak op
garantie.

INHOUD VAN DE KIT

- Geassembleerde l[adder ..., 1
- Schroef DIN7981C - 5.5%x32 iNOX ..coovvcvvevrerennan, 8
- Zeskantbout DIN933 - M5x50 iNOX.....cccc.ccu.... 8
- Waaierveerring DING6798 - M5 8
- Moer DIN934 = M5 .o 8
- Tegenplaatje aluminium ..., 4
= AFAEKKED e 4

OPMERKINGEN
e Dezeladder is veilig conform norm 74/483/EEG.
e Monteren volgens tekening 1A of 1B.

e Om alle geboorde gaten in het dak waterdicht te maken gebruikt u bij voorkeur zuurvrije silicone
(bv. SIKA 221).

@ Read these instructions carefully. No guarantee will be allowed for wrong installation.

CONTENTS OF SET

- Assembled ladder ..., 1
- Screw DIN7981C - 5.5X32 oo, 8
- Hexagonal bolt DIN933 - M5x50 ... 8
- Locking Washer DING6798 - M5......coovvvein, 8
= NUEDIN934 = M5 e
- Aluminium Counter plate ...

= PlaStiC Cap e

REMARKS

e This ladder is safe conform the norm 74/483/EEG.
e Choose to install as shown on picture 1A or 1B.
e To make all drilled holes through the roof waterproof, one best uses acid free silicone (eg. SIKA 221).

Lesen Sie die Montageanleitung sorgfaltig durch, da der Garantieanspruch bei unsachgemasser
Montage erlischt.

INHALT DES SETS

- Montierte Leiter .o 1
- Schraube DIN7981C - 5.5X32 iNOX .cccovvvvrerenn. 8
- Sechskant schraube DIN933 - M5x50 inox..8
- Zahnrad DING798 = M5 ... 8
- Mutter DIN934 = M5 e, 8
- Gegenplatte aluminium ... 4
- ALdeCKKaPPe .. 4
BEMERKUNGEN

e Diese Leiter ist konform Sicherheitsnorm 74/483/EEG.

e Montieren Sie folgt Abb. 1A oder 1B.

e Um die gebohrten Lécher Wasserdicht abzudichten, nitzen Sie einen Sauerefreien Silikon (zb. Sika
22D

N )
uThuIe NV, Kortrijkstraat 343 — BE 8930 Menen, BELGIUM E infoRV@thule.com mwww.thule.com



Thule Ladder Deluxe .
307496 (single) - 307497 (double) T""E

LD 908-01

@ Lisez ces instructions attentivement. Un montage fautif annule toutes les clauses de garantie.

CONTENU DU KIT DE MONTAGE

- Echelle pré-assemblée ..., 1
- Vis DIN7981C = 5.5X32 .o, 8
- Vis hexagonale DIN933 - M5x50 ... 8
- Anneau DING798 = M5 ..., 8
- Boulon DIN934 = M5 e 8
- Aluminium contre-plaque ... 4
- Cache plastigue ..., 4
REMARQUES

e Cette échelle est conforme aux normes 74/483/EEG.

e A monter selon 'image 1A ou 1B.

e Pour imperméabiliser les trous percés dans le toit, vous pouvez utiliser de préférence un silicone
non acide (ex. : SIKA 221)

@ Lue nama asennusohjeet huolellisesti. Takuu ei kata vaarin asennettua tuotetta.

ASENNUSSARJAN SISALTO

- Kootut tikkaat e, 1
- Ruuvi DIN7981C = 5,5X32 .o 8
- Kuusioruuvi DIN933 - M5x50 ..o 8
- Lukkoprikka DING798 = M5 ..., 8
- Mutteri DIN934 = M5 e 8
- Alumiininen tUKIeVY ..o 4
= MUOVISUOJB oo 4
HUOMIOITA

e Nama tikkaat tayttavat turvallisuusnormin 74/483/EEG.

e Valitse asennustapa joko kuvan 1A tai 1B mukaisesti.

e Saadaksesi vesitiiviin liitoksen, laita hapotonta silikonia tai Loctite 5910 Quick Gasket (tuote 40376)
liimaa ajoneuvoon porattuihin reikiin.

N )
uThuIe NV, Kortrijkstraat 343 — BE 8930 Menen, BELGIUM E infoRV@thule.com mwww.thule.com



Thule Ladder Deluxe

307496 (single) - 307497 (double)
LD 908-01

“\l

Ao

P N

N )
uThuIe NV, Kortrijkstraat 343 — BE 8930 Menen, BELGIUM E infoRV@thule.com mwww.thule.com



